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QUESTION 1

Which of the following is a reason to use a Conditional block on a report?

A. to allow users to select values that will filter the report for certain data types

B. to allow a report to run during certain blocks of time based on conditions set by the user
C. to show or hide report objects based on prompt selections a user made at run time

D. to block defined groups of users from accessing a folder of reports based on a condition

Correct Answer: D

QUESTION 2

What technique could be used to investigate report performance?
A. Increase the size limit for the user session.

B. Review the system metrics.

C. Enable the interactive performance assistant

D. Enable legacy user interface.

Correct Answer: C

QUESTION 3

To create a Layout Component Reference in a report, which object property needs to be provided?
A. Conditional Reference

B. Label

C. Name

D. Render Variable

Correct Answer: C

QUESTION 4
What advantage does multidimensional report writing have on query maintenance for complex queries?
A. There is no need to use calculations as the data source contains all the required data items.

B. Fewer queries are required and the need for unions of queries is reduced due to the flexibility of MDX.
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C. Unions and Joins are always required for queries making it easier for a developer to understand the query intent.
D. There is no advantage and multidimensional query constructs should be avoided.

Correct Answer: B

QUESTION 5

A developer is given the task of creating an information panel to be displayed in the foyer of the office. Which Cognos
Analytics capability gives the best impact with minimal work?

A. Story played in Kiosk mode with a loop
B. Bespoke report using JavaScript

C. Cognos Viewer Report

D. Dashboard based on Exploration content

Correct Answer: C
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